ITI Wireman 2nd Year Module 10 rouble Shooting - Single Phase
Motors and Estimation and Costing

(1). What is the effect if the centrifugal switch is still closed condition after the

motor starts? | qﬁﬁﬂﬁlﬁfﬂﬁ% dIc BoIUaRS Rag 3t lﬁ@?@fﬁﬁ%
ol T THTG TS TTT?

(A) Motor stop immediately | Inaﬂ?ﬁa?{w

(B) Starting winding burn out | RT%TEI'I_{%"TE:T&HB?
(C) Motor runs at slow speed | Hiex Wﬁ@ﬂﬁ?ﬁ%
(D) Motor runs normally | ﬁawwﬁaﬁ%

Correct Answer : B

(2). Which motor is used for domestic water pumps? | m\_ﬂﬁq@f%ﬁﬂm
Hiex &1 I9ANT foa ST 82

(A) Repulsion motor | RO Ale?
(B) Shaded pole motor | YSS Uld AIeY
(C) Capacitor start motor | PURTER WIE HIeR

(D) Universal motor | qﬁaﬁaﬁlaz

Correct Answer : C

(3). Which winding is disconnected at 70% of speed in a capacitor start induction

run motor? | HURTER WIS ST T HIeX | 70% Tfd WR P arsfgmn
STIp-ae [T AT 872

(A) Auxiliary winding | 3NfRTe arafeT
(B) Main winding | o9 arEafsn




(C) Running winding | I gt
(D) Damper winding | Waﬁ%ﬂ

Correct Answer : A

(4). How much percentage of total cost is added to estimate as contingencies? |

HoAod] TEHE A & o $d ArTd BT foa ufa=rd SheT SiTdT g2

(A) 0.2

(B) 0.15
(C) 0.1
(D) 0.05

Correct Answer : D

(5). Which motor is used in table fan? | oo B | I Il Hiex &1 YanT fhan
I 82

(A) Shaded pole motor | YSS UId AleY
(B) Universal motor | qﬁaﬁan’laz

(C) Permanent capacitor motor | YT YT AleX
(D) Eddy current motor | Q_SQ[W HieR

Correct Answer : C

(6). What is the height of horizontal run of cables as per |IE code

recommendation? | IE TS RIBGIRR & WW% &S A B SHas
ELEIGE

(A) 2.5m
(B) 3m



(C) 2m
(D) 1.5m

Correct Answer : A

(7). Which is the full form of NE code? | NE WW@W@?W%’”
(A) National Energy Code

(B) National Engineering Code

(C) National Electricity Code

(D) National Employment Code

Correct Answer : C

(8). Which is the minimum size of copper conductor used for power wiring in

commercial wiring as per IE rule? | IE [BREED WWWﬁW
& dRI & o die & S aer BT gAdH THR 182

(A) 1 mm?

(B) 1.5 mm?
(C) 2.0 mm?
(D) 2.5 mm?

Correct Answer : D

(9). How the radio interference is suppressed in centrifugal switch method of

speed control of universal motor? | lj\lr'\'ld{-lrﬂ Hiex B! 71T =01 B g uaR®
= fafer A1) geaau 1 B8 e oiTdl 82

(A) By connecting capacitor across centrifugal switch | HUTRT B H-ZTIRSD
gg e




(B) By adding compensating winding with armature | STHIR & 1Y &ri%lqﬁ-f
A& JreH

(C) By connecting an inductor in series with centrifugal switch | WW@

DTUIRS R & I YRaell H SIS hr

(D) By connecting capacitor in series with centrifugal switch | e &l

DTUIRS R & I YRaell H SIS hr

Correct Answer : A

(10). Which type of single phase motor is having very high starting torque? | fog

UhR &1 Thd TRUT HIeR H 9gd 31 IR sareuf gidar g2
(A) Repulsion motor | Uiy Ae

(B) Universal motor | Wlﬂa

(C) Split phase motor | & TRUT AR

(D) Permanent capacitor motor | YT HeTRA Hiex

Correct Answer : B

(11). What is the application of universal motor? | lj\ﬁd{-fﬂ HicX Bl &WW

87

(A) Teleprinter | efciitieR
(B) Compressor | U
(C) Food mixer | P8 R
(D) Jet pump | SIc UT

Correct Answer : C



(12). How many number of windings are there in split phase resistance type

induction motor? | meﬂmWﬁHﬁﬁﬁ:ﬁmﬁw
gl 82
(A) 1
(B) 2
(C) 3
(D) 4

Correct Answer : B

(13). Why permanent capacitor is used in fan motor? | T B Hiex & R
G BT IUTNT Y fordT ST 872

(A) Speed regulation | Flﬂ_s’i?g@l??

(B) Splitting of phase | fRafdT g

(C) To improve the power factor | WWY'&QWW%W
(D) Low power consumption | &4 faorell o1 @ud

Correct Answer : B

(14). Which single phase AC motor can operate in DC also? | ﬁq?ﬁ R Thol AC

Hiex pc # i S HR Tl g2
(A) Capacitor start capacitor Run motor | e TR e Are? EIFIT\@
(B) Repulsion motor | gfaeyur Ae

(C) Universal motor | qﬁaﬁﬁﬁlaz
(D) Permanent capacitor motor | YT YT Ale?

Correct Answer : C



(15). Which single phase AC motor is commutator type? | I 4t R el AC

Hiex HHICR THR Bl g?

(A) Resistance start induction run motor | WE’I’&WF{W
(B) Permanent capacitor motor | YT FemRA Hiex

(C) Shaded pole motor | S S Ui HieX

(D) Repulsion motor | SIREL Rz RS

Correct Answer : D

(16). Which type of the bus bar system is illustrated? | PO UPR BTIT IR

Rreaafemg?

050 AT el ), LA,

(A) Horizontal bus system | %ﬁlﬁ@@ﬂ?ﬁ

(B) Vertical bus system | gefhd S Jome

(C) 8 barsystem | 8 TR e

(D) Bus bar trunking system | amawg%wﬁm



Correct Answer : C

(17). What is the basic working principle of single phase universal motors? | Udhd]

RO IR Hied & qd B Rigid w g?

(A) Same as DC Motors | DC Hiex & JHH

(B) Faraday’s laws Iaﬂ_ﬂ%$ﬁ'ﬂﬂ

(C) Rotating magnetic field theory | ‘qpﬁgwqﬂu hics R«gid
(D) Fleming's right hand rule | TRITHIT &1 GI&0T B fHaH

Correct Answer : A

(18). What is the reason of lamp glowing dim and motor running slow in a

domestic wiring circuit? | WWW'&%%@W AR AR P
efeft 71 T T BT T RO B2

(A) Open circuit in the earth conductor | 3“[2f Heacy H g el {-IEICOC

(B) Short circuit between conductors | Heac| & §d VI'T_C; {-IEICOC
(C) Open circuit in the neutral line | Ycd dig- H 3y gfdhe
(D) High value series resistance fault | 3= Hcd mqﬁlﬁam

Correct Answer : D

(19). Which single phase motor operates in both AC and DC supply? | R Ul

Hiex § W H I I A 3R ST 3MTYfd F 3TRE Bt 82
(A) Shaded pole motor | UVeS Uid Hiex
(B) Two value Capacitor motor | S AF JYTRF Al

(C) Universal motor | qﬁaﬁﬁﬁlaz



(D) Split phase induction motor | WWW qic

Correct Answer : C

(20). Which is the name for calculating the cost of material and labour of electrical

installation? | faGgd RITHAT &t AT 3R 4H P ANT D1 UM HRA & g
DI AT A ]?
(A) Estimation | Q@'EIQFT

(B) Layout | 33T

(C) Schedule | &Iﬂﬁ\?ﬁ
(D) Specifications of materials | W%ﬁﬁﬁ

Correct Answer : A

(21). What is the thickness of steel sheet for enclosure of bus bar chamber? | d4

IR FR & TR & oy wier 2fie 1 Hers fbal g2
(A) 1 mm

(B) 1.5 mm

(C) 2mm

(D) 2.5mm

Correct Answer : B



(22). Which accessory is represented by the BIS symbol? | BIS Udie gRI fbyg

SRAIRTY P IdT 1 87

i

(A) Combined switch and socket outlet 16A | W%ﬂ 3R Gidhe 3A3cAc 16
A

(B) Interlocking switch and socket 6A | Q'EQGV”%‘I g GﬁTW 6A
(C) Interlocking switch and socket 16A | Q'EQGUI%JI g GﬁTW 16 A

(D) Socket outlet 16A | Tide 3T 16 A

Correct Answer : D

(23). How many power socket outlet are permitted in a power sub circuit as per IE

rule? | IE 08 & SFOR TR T§ Afdhe H fasa- IR iove 313cdc &t
A §?

(A) 1

(B) 2

(C) 3



(D) 4

Correct Answer : B

(24). Which single phase motor tapped field control method employed? | ﬁq?ﬁ

Uhd oRUT HICR <8 Wics =l faf drika g2

(A) Permanent capacitor motor | YT YT HieX
(B) Shaded pole motor | YSS UId Al

(C) Repulsion motor | o=@ AR

(D) Universal motor | qﬁaﬁaﬁlaq

Correct Answer : D

(25). Which type of rotor is used in capacitor start induction run single phase

motor? | GUTRA wT< SgavH T RiTTa ol Hiex H {5y UBR & e &1 ITTANT
[CRIRIRIGS

(A) Slip ring type | %ﬂﬁ‘ﬂa@

(B) Commutator type | Ohuzl\éd clgu

(C) Wound rotor type | dI3US e clgy

(D) Squirrel cage type | %gbi\ic'l ol HEL

Correct Answer : D



